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Abstract

Abstract content goes here

Determine el momento de la(s) fuerza(s) en el punto O para cada uno de los problemas.

Problema 1

Solucion

MO = FxY − FyX

+Mo = 600 sin 50 (5) + 600 cos 50 (0.5)

Resultado

= 2.49 kip · ft

Problema 2

Solución

Mo = FxY − FyX

+Mo = 500 cos 45 (3 + 3 cos 45)

− 500 cos 45 (3 sin 45)
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Resultado

= 1.06 KN · m

Problema 3

(MR)o = rA · FR

Solucion

FR = F1 + F2

~F1 = {100i − 120j + 75k} lb

~F2 = {−200 + 250j + 100k} lb

= {(100− 200) i + (−200 + 250) j + (75 + 100) k} lb

= {−100i + 130j + 175k} lb

(MR)o = rA · FR

Resultado

= {485i− 1000j + 120k} lb
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Figure Captions
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